Mecn 234 + 235 Frop. 5-84 |
'z:rs?:exaa;:ﬂ LoaDD 7247
Word +his Pmé/ﬁm backwards & determme T

T s 29, 202

A
éfﬂnﬁ 7= c'/ﬁ" °
| ‘4 l /2’ J; |

1

- _ - ; #Y_ .
460[%:[ A= Lt Jf(taxé}sﬂ,r)..{aga
e x.~ 6’
) L . ?=éé=jé£9=é{

o |} Ageibeeyle)u (9w )b
L_?= %t %é&)ﬁz'_‘l @ X, 12!

s i S T O

e = D é‘,l—‘T=<:s= ~ 4 050-Fw +R.
Al Take moments about C
o . 76

R eleminate unknow "P::?,
- Cy and solve ]ﬁr g

é.:{-:_._‘- O= — 44 jo0 )Q E. +ét,05‘af}’mr)+ (9*1,;)\/49

44, teo ~ 40,500 = (?‘*G,Yé‘)
3600 L. /b, ._-_]1.:5 = fmé_{
’

(97X4")
- €Rro 4050% + 9/ (10015.) =’7@7 = 45'?50'”/

~—




